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,QGLNDWRU 6WUHQJKW :HDNQHVV 2SSRUWXQLW\ 7KUHDWV
6XNXN � 6HEDJDL� DOWHUQDWLI�

SHPELD\DDQ� ODLQ�
XQWXN�
PHQJKLQGDUL�
KXWDQJ

� 3HQVWLPXOXV�
LQYHVWDVL

� 3HQ\RNRQJ�
SURVHV�
SHODNVDQDDQ�
GHVHQWUDOLVDVL�
ILVNDO�

$NDG� EDJL� KDVLO�
SHUOX�
NRPSOHNVLWDV�
SHQHQWXDQ�
EHVDUDQ� EDJL�
KDVLO��
GLEDQGLQJNDQ�
GHQJDQ� DNDG�
LMDUDK�

<LHOG� GDUL� DVHW�
\DQJ� GLJXQDNDQ�
VHEDJDL�
XQGHUO\LQJ�

2EOLJDVL�
NRQYHQVLRQDO

6KDULDK�
V\VWHP

6LVWHP� \DQJ�
EHEDV� ULED�� WLGDN�
DGD� VSHNXODVL�
GDODP� KDUWD�� GDQ�
XVDKD� \DQJ� WLGDN�
EHUWHQWDQJDQ�
GHQJDQ� QLODL�QLODL�
,VODP�

6LVWHP� \DQJ�
EHOXP� WHUODOX�
GLNHQDO�
PDV\DUDNDW�

0DV\DUDNDW�
,QGRQHVLD� \DQJ�
PD\RULWDV�
0XVOLP�

$GDQ\D� VLVWHP�
EXQJD� \DQJ� OHELK�
PHQJXQWXQJNDQ�

'DODP�
3DVDU�
0RGDO�
6\DULDK

2EOLJDVL�V\DULDK 1RQ�6DKDP 3ULRULWDV�
SHPELD\DDQ

5HVNR�OLNXLGLWDV

8QGHUO\LQ
J�$VVHW

8QWXN�
PHQJHPEDQJNDQ�

.XDOLWDV�DVHW�\DQJ�
WLGDN� GLSHUROHK�

6HPDNLQ�EDQ\DN�
DVHW�\DQJ�VHVXDL�

5HVLNR� SDVDU��
GLPDQD� KDUJD�
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LQIUDVWUXNWXU� GL�
,QGRQHVLD�

DSDELOD� WHUMDGL�
NHODODLDQ� SLKDN�
GDODP�
SHQ\HOHVDLDQQ\D�

GHQJDQ� VWDQGDU�
\DQJ�GLWHQWXNDQ�
VHPDNLQ� EHVDU�
EDJL� QHJDUD�
XQWXN�
PHQGDSDWNDQ�
SHPELD\DDQ�GDUL�
LQYHVWRU�
LQWHUQDVLRQDO�

NHPXQJNLQDQ�
DNDQ� WXUXQ� SDGD�
VDDW�MDWXK�WHPSR�
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DVSHN�PD\VLU� GDQ�
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